$$\frac{|\text{exture II (2.12)}}{5.9 \quad Computing the p-multiplier}$$

$$Let G & \text{fe an order with Sacis where so is and let  $T \cong G & \text{fe c non-2000.}$ 

$$ideal with Sacis Kharming Khar$$$$

$$\frac{\operatorname{lemma} 5.32}{\operatorname{Let} X = \overline{Z} X_i X_i \in L, X_j \in \mathbb{Q} \text{ (any elevent of } L \text{ can be written hike this)}}$$

$$The X \in [I/I] \quad iff \quad (X_{n}, X_n) \cdot (A_{Y_h} \cdot A^{-1}) \in \mathbb{Z}^n \quad \forall k.$$

$$\frac{\operatorname{Proof}_i : \operatorname{By old Kindson}_i \quad X \in [I/I] \quad iff \quad XI \in I.$$

$$(=) \quad X_{Y_k} = I \quad \forall k$$

$$\operatorname{Now}_i \quad Y_k : X = \sum_i Y_h X_i d_i = \sum_i X_i \left( \sum_i (A_{Y_k})_{ij} \times_j \right)$$

$$= \sum_i X_j \left( \sum_i X_i (A_{Y_k})_{ij} \right)$$

$$= \sum_{i} \left( \sum_{\ell} (A^{-1})_{i\ell} Y_{\ell} \right) \sum_{i} X_{i} (A_{\delta k})_{ij}$$

$$= \sum_{\ell} \delta_{\ell} \sum_{i} X_{i} \sum_{j} (A_{\delta k})_{ij} (A^{-1})_{j\ell} = \sum_{\ell} \delta_{\ell} \sum_{i} X_{i} (A_{\delta k} A^{-1})_{i\ell}$$
This is a linear combination of the  $Y_{\ell}$ , and these form a  $\mathbb{Z}$ -basic of  $T$ ,
so  $Y_{k} \times c T$  iff  $\sum_{i} X_{i} (A_{\delta k} A^{-1})_{i\ell} \in \mathbb{Z}$  be
 $(X_{n}, \dots, X_{n}) \cdot (A_{\delta k} A^{-1}) \in \mathbb{Z}^{n}$ 
 $S_{1} \times T \in T$  iff  $(X_{n}, \dots, X_{n}) \cdot (A_{\delta k} A^{-1}) \in \mathbb{Z}^{n}$ 
 $Node: \overline{T}/T] \ge G \implies e_{i} (A_{\delta k} \cdot \overline{A}^{-1}) \in \mathbb{Z}^{n}$  bis  $(A_{\delta k} \cdot A^{-1}) \in Mat_{n \times n}(\mathbb{Z}).$ 

$$Step : Set$$

2

$$\mathcal{B} := \begin{pmatrix} \left(A_{\gamma_{n}} A^{-1}\right)^{c} \\ \vdots \\ \left(A_{\gamma_{n}} A^{-1}\right)^{c} \end{pmatrix} \in Mat_{n^{2} \times n} (\mathbb{Z})$$

For  $x \in L$  expressed in the vij's we thus have  $X \in [I/Z]$  iff  $Bx^{t} \in \mathbb{Z}^{n^{2}}$ Nok that for any  $U \in Gl_{n^{2}}(\mathbb{Z})$  we have  $Bx^{t} \in \mathbb{Z}^{n^{2}}$  iff  $UBx^{t} \in \mathbb{Z}^{n^{2}}$   $\frac{Slep 4}{2}$  Let  $\mathbb{B}$  be the HNF of  $\mathbb{B}$ ,  $\mathbb{B} = UB$ . Since  $Ay_{k}$  has full rank (see above),  $\mathbb{B}$  has full rank as well. Hence the submatrix C of non-zero rows of  $\mathbb{B}$  is of size nxn and is invertible. Now,  $X \in [I/Z]$  iff  $Cx^{t} \in \mathbb{Z}^{n}$ Note that  $Cx^{t} = y^{t} \in \mathbb{Z}^{n}$  iff  $x^{t} = C^{-1}y^{t}$ , hence all such x are inlessed linear combinations of the rows of  $(C^{-1})^{t} \in Mat_{nxn}(D)$ .

$$\frac{246.4}{\text{Let } \Lambda \text{ be c tattice with basis } v_{3...,v_n}. Then \phi := \{x_1v_1 + ... + X_nv_n \mid O \in X_i \leq 1 \quad \forall i \} \subset V is called fundamental region of  $\Lambda$  (with the basis).$$

$$\frac{E \times 6.5}{a} = (1 \ 0), \ v_2 = (0 \ 1) \ \sim 2 - d_{in'} (1 \ c) + h_{in'} = (1 \ 0), \ v_2 = (0 \ 1) \ \sim 2 - d_{in'} (1 \ c) + h_{in'} = (1 \ 0) + h_{in'} = (1 \ 0$$

Ē

$$b) V = R^{2}, V_{1} = (1 \ o), V_{2} = (-1/2 \ \sqrt{3}/2) \ (2 - dim't) \ lattice \ A$$

c) 
$$V = |R_1^2, V_1 = (1 0), V_2 = (\pi 0)$$
  
Generates a free Z-submodule of  $|R^2 \circ I$  dim 2 but this is is not  
a lattice in  $|R^2$  since  $V_1, V_2$  are linearly dependent over  $|R|$ 

Since 
$$\langle \cdot, \cdot \rangle$$
 is a scalar product,  $Gr_{\lambda}(v_{1}, \cdot, v_{n})$  is symmetric and parities  
definite.  
Can show (Exercise G.I) that this gives a well-defined map  
 $(**)$  Lattices/ $\sim$   $\sim$   $symmetric and parities  $|Q|^{N}$   
where  $Q \sim Q'$  iff  $Q' = PQP'$  for some  
 $P \in GL_{n}(\mathbb{Z})$   
Conversely, let  $Q \in Mct_{n}(\mathbb{R})$  be symmetric and positive definite.  
We will show in §6.3 that there is a (lower bringular) modelie to  $Mat_{n}(\mathbb{R})$   
such that  $Q = AA^{t}$  (dioleshy decomposition).  
Let  $e_{n,...,e_{n}}$  be an orthonormal basis of V.  
Let  $V_{i} = \sum A_{ij}e_{ij}$ . Then  
 $\int_{k} A_{ik}e_{k} \sum_{e} A_{ije}e_{e} \ge \sum_{k,e} A_{ik}e_{k}e_{e} e_{e} >$   
 $= \sum_{k} A_{ik}A_{ik}e = (AA^{t})_{ij} = Q_{ij}.$   
 $\Longrightarrow$  Setting  $\Lambda := \mathbb{Z} \cdot Sv_{N} \cdot v_{N}^{2} \subset \mathbb{R}^{n}$  we have  $Gr_{\Lambda}(v_{N} \cdot v_{N}) = Q$ .  
 $\sim$  This gives an inverse to (*t).$